Power needs control

SOLID GSX Enclosure system

BL-WP

A13.06 1981029321

BL-WP2 001338900
No. Type ETI Name Pcs.
1 [BL-WP-2-C  [Support 1
2 |BL-EP Support 1
3 |AST 4.8x9.5 |Tapping screw 8
4 |AW-R 8 \Washer M6 DIN126 Zn 1
5 |AS-SH 8x12  [Screw M8x12 DIN912 Zn 1
6 |BP-6 Rubber plug 2
BL-WP 3 001338901
No. Type ETI Name Pcs.
1 |BL-WP-3-C Support 1
2 |BL-EP Support 2
3 |AST 4.8x9.5 |Tapping screw 10
4 |AW-R 8 Washer M6 DIN126 Zn 2
5 |AS-SH 8x12  |Screw M8x12 DIN912 Zn 2
6 |BP-6 Rubber plug 4
24 | " ) 0 O] 1 U] 2
23 oo O O oo 23
¢} o o o o o
22 oo e} o) oo 22
R o| o o s o |
21 T oo @] O oo 21
20 oo O O oo 20
19 0o O O 19
B -
18 @ | =— |Of (@) [a) 10 18
§ ——|o Y Y -
17 oo @) ojo (€] 17
16 oo @) (@] (6] (€] oo 16
15 oo @] @] (¢] O oo 15
14 oo O @] [¢] O oo 14
13 o oo @) olo WP-A ) oo 13
[ Q| ° ° ofo o o || O
12 ™ oo o) oo / o) oo 12
11 oo @) @] (@] (@] oo 11
10 oo @) ojo (€] o0 10
9 oo @) @] (€] (@] oo 9
8 oo @) ojo @] oo 8
7 o @) e (o) O 7
6 @ | =— |Of 10 6
@D —=—|o o
5 oo @) O 5
4 oo @) o oo 4
o
3 & oll° e} O o 3
2 o || o0 e} @) oo 2
o ° o o
L B PaNiie) [e) @] O l~d 1
=X
=14
[an)
LN
=) cP21F B ]
- ) cp11F B]
o
= &3 5]
= cP12F oo & CP1-1F E o]
e &)
o
ral
CP2-1F

ETI Elektroelement d.o.o.

Obrezija 5, 1411 Izlake, Slovenia

Phone: +386(0)3 56 57 570

Fax: +386(0)3 56 74 077

e-mail: eti@eti.si

www.etigroup.eu

21/64




£T’ P SOLID GSX Enclosure system
ower needs control

N
NEE N
o | Q
9
o N
d Q
g N
3 o] Screwdriver PH2
Sl (Wkretak PH2)
)

=K

R X X XA A AT X=X
T e .

Screwdriver PH2
(Wkretak PH2)

AST 4.8495 | 3,0-3,4 Nm

Hex5

(Klucz imbusowy 6)
4 [rssnaxs

A13.06 1981029321 | ETI Elektroelement d.o.0. Obrezija 5, 1411 Izlake, Slovenia Phone: +386(0)3 56 57 570  Fax: +386(0)3 56 74 077 e-mail: eti@eti.si www.etigroup.eu 22/64| |




